C&S/14/12F

Concern for the way the S-52 PresLib handles the S-57 attribute VERCSA when VERCLR is also encoded.

I have a question with regards to how the overhead clearance of cables is displayed by the Presentation Library.

There are two attributes that may be used for the vertical clearance of an overhead cable: VERCLR and VERCSA.

VERCLR is defined as the vertical distance measured from the plane towards the object overhead.

VERCSA is defined as the safe vertical clearance from the plane towards the object overhead.

In S-57 Appendix A, Chapter 2 - Attributes, there is the remark: "In the case of cables carrying high voltages, the quoted vertical clearance (VERCLR) may have to be reduced by 2-5m to avoid electrical discharge."

Below are the drawing instructions for the object CBLOHD, type line from the IHO ECDIS Presentation Library User's Manual

"CBLOHD","","LS(DASH,4,CHGRD)","8","O","DISPLAYBASE","12210"

"CBLOHD","CONRAD1*VERCSA*","LS(DASH,4,CHGRD);SY(RACNSP01);TE('sf clr

%4.1lf','VERCSA',3,1,2,'15110',1,0,CHBLK,11)","8","O","DISPLAYBASE","122

10"

"CBLOHD","CONRAD3*VERCSA*","LS(DASH,4,CHGRD);SY(RACNSP01);TE('sf clr

%4.1lf','VERCSA',3,1,2,'15110',1,0,CHBLK,11)","8","O","DISPLAYBASE","122

10"

"CBLOHD","CONRAD1*VERCLR*","LS(DASH,4,CHGRD);SY(RACNSP01);TE('clr

%4.1lf','VERCLR',3,1,2,'15110',1,0,CHBLK,11)","8","O","DISPLAYBASE","122

10"

"CBLOHD","CONRAD3*VERCLR*","LS(DASH,4,CHGRD);SY(RACNSP01);TE('clr

%4.1lf','VERCLR',3,1,2,'15110',1,0,CHBLK,11)","8","O","DISPLAYBASE","122

10"

"CBLOHD","CONRAD1*","LS(DASH,4,CHGRD);SY(RACNSP01)","8","O","DISPLAYBASE

","1

2210"

"CBLOHD","CONRAD3*","LS(DASH,4,CHGRD);SY(RACNSP01)","8","O","DISPLAYBASE

","1

2210"

"CBLOHD","VERCSA*","LS(DASH,4,CHGRD);TE('sf clr

%4.1lf','VERCSA',3,1,2,'15110',1,0,CHBLK,11)","8","O","DISPLAYBASE","122

10"

"CBLOHD","VERCLR*","LS(DASH,4,CHGRD);TE('sf clr

%4.1lf','VERCLR',3,1,2,'15110',1,0,CHBLK,11)","8","O","DISPLAYBASE","122

10"

The Presentation Library does not appear to different between VERCLR and

VERCSA when the attribute CONRAD is not encoded. The attribute value for

VERCLR and VERCSA are both prefaced by "sf clr". This will give false

information to the mariner when VERCLR is encoded. I believe that the

last entry for CBLOHD should be changed to:

"CBLOHD","VERCLR*","LS(DASH,4,CHGRD);TE('clr

%4.1lf','VERCLR',3,1,2,'15110',1,0,CHBLK,11)","8","O","DISPLAYBASE","122

10"
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